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= 479,554
[ 842,000
= 1,156,680
Ea 7,149,555
SN =Sl 3,831,293 3,169,781 661,512
= 1,785
[ 46,000
= 441,389
= 3,342,119
NSN3 319,490 307,010 12,480
= 3,400
Ea 316,090
NN 232 23,690 11,210 12,480
201 er2 3| 9,090 3,010 6,080
01 AtR2te|HI 5,090 3,010 2,080
0 &et=EH| 4,090
0 MEFR=EZE 15,0002 6%+ 12& 1,080
0 MUADE U ARBE 7Y
500,000& *42] 2,000
o NgZNeds E22 M
400,000 22 800
o NIGAARBALS AHO BH40t M
70,0002 #32] 210
0 2E+Y 1,000
o SRR HH+E
1,000,000& %12 1,000
02 S3=gHl 4,000 0 4,000
0 2N E32= 400,000&+10& 4,000
202 04| 10,800 7,200 3,600
01 =LHOLI 10,800 7,200 3,600
0 2Ll 10,800
o =L 150,000 x6E « 123 10,800
203 HE=AH] 3,800 1,000 2,800
03 A= H =AY 3,800 1,000 2,800
0AE g2 =4 3,800,000 %14 3,800
KNSEH =AM 2t 85,000 85,000 0
201 fet=3| 5,000 5,000
01 AtR2t2|HI 5,000 5,000
0 NIATHAHE SE(AA)
500,000& *10A4 5,000
402 QI2F X201 & 80,000 80,000
03 2IZHRAETAIHHI 80,000 80,000
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ZHOIE

33 NGFHedst
chel: MSAE 435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,060,573
HEA T2 L= 1,348,241 604,555 743,686
101 21A4H| 106, 141 75,955 30,186
04 JIZtN2 2N S 2+ 106, 141 75,955 30,186
0 OISSEANE ¥t & 23| 26,536
oJlZ2s 76,9603 x1H 248 19,087
o =g 76,9602 1 x52 4,002
o Xt=& 76,9602 x 11 847
o 428 E JIARE=S
2,600,000& 1 2,600
0 Sts (B )SEAIE =Rt 79,605
oJdlEs 76,9603 x3H x248! 57,259
0o FREEE 76,9603 x3& 52 12,006
o Xt 76,9602 x3& x 11 2,540
0 4UESE JI2ARES
2,600,000 *3H 7,800
201 er23| 164,100 110,600 53,500
01 At2tltl 65,800 25,800 40,000
0 HEAIR 018 B2 23 16,000
0 B 0BT L B40t M
2,000,000& %14 2,000
o8& OIHE 2 2IEx & ZHM M
7,000,000 22 14,000
0 SSatad A2 223
40,0003 * 104 A+ 12 4,800
0 HSAIE OI0IXIH&ALS
20,000,000 *14] 20,000
0 HEZD| BIIZA =28
5,000,000& 12 5,000
0 MSAY FA0RN 2 15 & 248 20,000
2 s5=34l 98,300 84,800 13,500
0 ots= SEAY 28 XE 98,300
o AlE gA(A=)HIE
1,500,000 *9E 13,500
02322 % HAl 4,600,000 ~12& 55,200
0 Ots, MWAIE AEorMZte| CHEdt|
2,400,000 *43] 9,600
0 WSAZ Al FIIQEE
2,500,000& «20 A*43] 20,000
206 M=l 13,000 13,000
01 MHZHI 13,000 13,000
0 SaAE 2¢ =]
1,000,000 %1390 2 13,000
307 elzto| & 65,000 25,000 40,000
04 CIZHHAMAIRH 2 & 65,000 25,000 40,000
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g NGB HELE2
el MSAE 843 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S3NE 29 25,000,000 *23] 50,000
HEANF ZOHA 2
15,000,000 * 14 15,000
401 Al HIZ R OHHI 1,000,000 320,000 680,000
01 AlZ8| 1,000,000 320,000 680,000
0 MSAE HE0! =4 1,000,000
N oge A 550,000 1,000,000 450,000
S 275,000
= 275,000
401 AlZHIZ SO 550,000 1,000,000 450,000
= 275,000
[Ea 275,000
01 Al&H| 550,000 1,000,000 450,000
0 otsS TN 550,000
S 275,000
o 275,000
HS AT A 250,000 250,000
401 AIEHIZ SR 0HYI 250,000 250,000
01 Al&H| 250,000 250,000
0 HSAE AAZ2AIE JHES 50,000
0 MSAIE &5 A 200,000
HEAE OFAE 43t 50,000 30,000 20,000
201 fer23y| 50,000 30,000 20,000
03 A= SHI 50,000 30,000 20,000
0 HSAE OIS 2
2,500,000 203! 50,000
HSAE SHHSH XA 12,000 12,000 0
[ 6,000
T 6,000
307 elztol & 12,000 12,000 0
= 6,000
= 6,000
02 2B HAIAE & 12,000 12,000 0
0 HSAE SHHSH K& 12,000
= 6,000
Ea 6,000
ANEBSHIIX XZA 7,632 7,416 216
307 21201 & 7,632 7,416 216
02 QIS ER 7,632 7,416 216
0 StSSEAZE HLIX X (SHIAEXH)
636,000 x1E~12& 7,632
HEAE TZAMS(HSAE AHIZEA) 12,000 0 12,000
= 2,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 10,000
307 gl2tol & 12,000 12,000
=S 2,000
s 10,000
04 QIZHHAMAIH 2 £ 12,000 12,000
0 HEAIE 2Fcla3a HO% dA =&
4,000,000 32 12,000
< 2,000
s 10,000
ols® SEAE FIEFNEA 76,700 76,700
= 46,000
Ea 30,700
401 AlEHIZ 201 76,700 76,700
[ 46,000
s 30,700
01 AlZ28| 76,700 76,700
0 OtSAIE FXEtZIHE AL
40,000,000& *14] 40,000
= 24,000
= 16,000
0 MWAIE F=REEHEA
36,700,000 *14] 36,700
= 22,000
o 14,700
HSAE XZAH 64,000 64,000
< 32,000
[Ea 32,000
307 212+01& 14,000 14,000
& 7,000
= 7,000
02 2IZHB A E & 14,000 14,000
0 ASAE X (S
14,000,000 * 10 2 14,000
= 7,000
Ea 7,000
401 Al HIZ R 0HbI 50,000 50,000
== 25,000
[Ea 25,000
01 Al&HI 50,000 50,000
0 MSAE X2 (538
50,000,000 *10H 2~ 50,000
= 25,000
= 25,000
HEAE B 2FAY 51,000 51,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 51,000 51,000
11 SIS0t oA AS A 51,000 51,000
0 HdSAE 222 AY
15,0002 *172|*x200H 51,000
Ent=s=DNE=] 1,090,230 430,800 659,430
= 1,785
= 122,989
= 965,456
SlsAgdEd FS843 212,800 127,800 85,000
201 eer23| 212,800 47,800 165,000
01 AtR2t2|HI 212,800 47,800 165,000
0 otSAtE &34 MH
1202%110,000& 13,200
0 2HIY dtaEd 2=
12,000,000,0002 *1.65% 198,000
0Z10 & 22 MA 800,000& 22 1,600
NegaEd gl 600,000 100,000 500,000
= 72,000
o 528,000
402 2I2FX=01 & 600,000 100,000 500,000
s 72,000
s 528,000
03 2IZ+2AEAIZHI 600,000 100,000 500,000
0 XIgAtEg o5d go 283
12,000,000, 000& *5% 600,000
< 72,000
s 528,000
aafEel OIXt2d X 39,600 39,600 0
201 er2 3| 2,100 2,100
01 AtR2telHl 2,100 2,100
0223 28 300,000 *23] 600
0 A&tZol XAIM 222 M
500,000 32 1,500
307 elztol & 37,500 37,500
08 OIXtE2& = 37,500 37,500
0 24380l OIXIEd X
50,000, 000& *75% 37,500
A3 ARE FHEH HAAL(E EX) 120,000 140,000 A20,000
S 32,000
o 88,000
402 2I2F X201 & 120,000 140,000 220,000
== 32,000
o 88,000
02 I ESASEZ(0IETHR) 120,000 140,000 220,000
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NS HEd st

i HEt= o= Sl DA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 12,000 0 12,000
0 A&30 OXIE QIZetXH
2,000,000 64 12,000
= 4,800
Ea 7,200
2xtel #=E 1,752,101 1,858,108 106,007
= 317,189
== 113,622
o 1,321,290
SSIZAIE=A 963,450 737,670 225,780
AT SS2ZAHE 963,450 737,670 225,780
101 e124d| 957,000 734,000 223,000
M ORNZZ2NSE S 957,000 734,000 223,000
0 1&tH1(50E « 53) 1,740,0002 x50 +5E 435,000
0 2EtHI(50Z * 58) 1,740,000 *50H 5 435,000
0 UAZI|2HE0Y * 18)
1,740,000 x50+ 12 87,000
201 et 3| 6,000 3,670 2,330
01 At2t2l] 6,000 3,670 2,330
0 SS2ZZ2AHY 2| 6,000
203 HR=&H] 450 450
03 A=A R =NH] 450 450
0 €XicldE g2 =8 450,000& 12 450
NeE=cd LA 679,064 1,015,438 N\336,374
= 317,189
S 100,812
= 261,063
d8 AHEY FEMNE AAH AL 39,000 161,200 A122,200
= 17,500
< 5,340
[Ea 16,160
301 2eEN= 4,000 14,400 10,400
14 JIEt2 8= 4,000 14,400 10,400
0 usSHl & FHIH=S 4,000
308 XXM SOIA 35,000 146,800 A111,800
= 17,500
[ 5,340
T 12,160
11 SIS0 4 A A A 35,000 146,800 111,800
0 el2it] 32,000
= 16,000
== 3,840
o 12,160
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40
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3,000
1,500
1,500

Mo W

26,864
15,189
3,502
8,173

1

09,494

A\82,630

HoH W

10,746
6,076
1,397
3,273

45,000

A34,254

14 DBt 2 a3

0 2ldIEIE

HH W

10,746
10,746
6,076
1,397
3,273

45,000

N34,254

307 212t01™

HH W

16,118
9,113
2,105
4,900

64,494

N\48,376

=
2
0
0z
>
e
HT
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o
e
[
=5

HoH W

16,118
16,118
9,113
2,105
4,900

64,494

N\48,376

HoH W

92,200
41,500
13,680
37,020

490,000

A397,800

9,200

24,000

A14,800

9,200
9,200

24,000

214,800

HoH W

83,000
41,500
13,680
27,820

466,000

383,000

MW
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83,000
64,000
32,000
7,680
24,320
9,000
4,500

466,000

383,000
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M 2dlel #=
el NE=E8 FHLAelAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,500
0 2ldlElE 10,000
= 5,000
= 1,500
Ea 3,500
EMO Et) SR OEl EciE 21 SSAIY 12,800 52,900 240,100
= 6.000
= 1,800
Ea 5,000
301 EtE NS 12,800 52,900 /40,100
= 6,000
= 1,800
= 5,000
14 IIEt2 83 12,800 52,900 240,100
0 Edis 2 29 Mg 12,800
= 6,000
< 1,800
= 5,000
Y E D.NA NEQIH 2HAS 176,400 147,000 29,400
= 81,000
< 26,280
= 69,120
301 EtE NS 14,400 24,000 29,600
14 IIEt2 8= 14,400 24,000 29,600
0 WsSHl & el2y| 14,400
308 AXIHMSOIA 162,000 123,000 39,000
= 81,000
& 26,280
= 54,720
11 SIS0t oA AS A 162,000 123,000 39,000
0 el2H] 144,000
= 72,000
< 17,280
[Ea 54,720
0 JIEtNIES 18,000
= 9,000
< 9,000
AZ2DNE S FEEE XA 42,600 0 42,600
= 16,500
= 4,950
= 21,150
301 EtE N = 42,600 0 42,600
= 16,500
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el NE=Ed FEeXieiArg (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,500
=S 12,500
HANAHNASHIMNEL 109,587 105,000 4,587
= 12,810
Ea 96,777
LAt HE & At S AR 61,887 59,000 2,887
101 21A4H| 61,887 59,000 2,887
03 SRA(RIH )22+ 61,887 59,000 2,887
0 EXt2dE FE A 61,887
o JlEg(bi=g, 11&38)
2,991,140« 18~ 12& 35,894
0 JtE=E 260,000 122 3,120
o XY+ (HRYAY)
150,000& 122 1,800
o SZ=JHl 3,607,550 x1H 3,608
0 ZM2R+E 22,7103 *20A1 2t 123 5,465
o 4i=2EE 12,000,000 *1H 12,000
Mg ssd NEAY 33,700 42,000 /8,300
= 10,810
o 22,890
308 XM SOIE 33,700 42,000 /8,300
== 10,810
o 22,890
11 SI[2S0He 4 EAS A 33,700 42,000 28,300
0 FENESHH 33,700
< 10,810
= 22,890
dHE WE e At 14,000 4,000 10,000
= 2,000
Ea 12,000
201 fer23y| 14,000 4,000 10,000
S 2,000
o 12,000
03 A= 14,000 4,000 10,000
0 Hetel= Xiel AL FHIt 10,000
0 ol #AN 2l ¢
4,000,000& 12} 4,000
= 2,000
= 2,000
NeSSH g4zt 609,246 535,790 73,456
& 222,151
Ea 387,095
0EJ1g & gsag |4 1,900 1,900 0
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=) & g8 =4 1,900 1,900
201 er23 | 1,400 1,400
01 At2teltl 1,400 1,400
00201 & 8328 &R 1,400
301 EtE2 NS 500 500
1 BAREIXES 500 500
00t=J1g & ESX8 us FAA 22
o 250,000 23] 500
ZEs0E 2438t 81,014 110,000 A\28,986
< 12,050
= 68,964
d=23510ls 43t N 13,600 24,000 10,400
= 2,400
= 11,200
307 elztol & 13,600 24,000 210,400
= 2,400
Ea 11,200
02 2B YA R E A 13,600 24,000 10,400
0 2=l 29 gdal
6,800,000 *2JH 2= 13,600
== 2,400
o 11,200
2SS T8t |4 47,024 65,610 18,586
= 9,650
= 37,374
307 elztol & 47,024 65,610 18,586
= 9,650
Ea 37,374
02 2IZHBYAIHE A 47,024 65,610 18,586
0 Z=3i0te 2208 22k |4
1,608,4162x2&* 12 38,602
== 9,650
o 28,952
0 223 02 Z208 22X &3
2,010,580 x2H 4,022
0 A3 0t =20 22kt 4HEES 4,400
d2aits =28 NE 20,390 20,390 0
201 ger=3| 20,390 20,390
01 AtR2te|H] 5,990 5,990
0 &et=SHl 5,990
0 EE2E B2 M
3,000 *300F*20H 2 1,800
o 2cte! 0IE 28 4,190
02 S3=gHl 14,400 14,400 0
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el NS EsSHE A A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 210,101
s 113,131
101 @124H| 306,232 325,790 19,558
= 199,051
= 107,181
04 JIZtNZ22 XS24+ 306,232 325,790 19,558
0 NSEESSH LAelAe el
1,631, 1602 x20E 102 306,232
=S 199,051
s 107,181
202 04| 3,000 3,000 0
< 1,950
= 1,050
01 SLHoIH 3,000 3,000 0
0 NHBSH LX2IA 01t
100,000 32 *10 3,000
= 1,950
Ea 1,050
206 M=l 14,000 14,000 0
== 9,100
o 4,900
01 M= HI 14,000 14,000 0
0 NABEH LX2IAI TH2H|
2,000,000 *79H 2 14,000
== 9,100
= 4,900
)|z 28 ANE MHIA 112,000 0 112,000
EHHD|E 28 ANE MHIA KA 112,000 0 112,000
201 eer23y| 77,000 0 77,000
02 S3=gl 77,000 0 77,000
0 A0IEAMHIA AME R 2 2 77,000
307 21201 & 35,000 0 35,000
02 LB AAHEE 35,000 0 35,000
0 &JIHA 2 X 35,000
gsd K& 1,349,850 1,576,743 A226,893
= 35,000
s 796,000
s 120,800
s 398,050
JE=A 2SN 217,000 389,043 A172,043
[ 26,700
Ea 190,300
JIgXd sMgR 118,400 224,400 106,000




2A:

=y wlkesin

3 Jlg=sd KH
el DRI 28X (SH9 H2)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
201 Let2AY| 5,000 5,000
03 A2 | 5,000 5,000
0 =2 JIEXRX &3 &It
2,500,000& *23] 5,000
203 YR =&IH| 1,400 1,400
03 AMBFAAHRF=LIH| 1,400 1,400
0718 Sxssd| 1,400
301 EtEXZ 2,000 2,000
11 HAFRHI X2 2,000 2,000
0J|ERX &3 & 4G &N B4
100,000& *20H 2,000
403 RIXIHMSK=201H 110,000 216,000 106,000
2 S| 2ASHCHStRHE2 A 2 EAIHI 110,000 216,000 106,000
0 ACIESHE 22 & 243AY
22,000,000 & *5JH 2~ 110,000
JIEXE 2FXA 9,600 9,600
201 Let23H| 4,200 4,200
01 At2teldl 4,200 4,200
0 eet=EH| 4,200
o JIgXE 25+7¢ 350,000 =128 4,200
202 044 5,400 5,400
01 ZLHOdHI 5,400 5,400
0 2LHABI 150,000 3 *12& 5,400
A2 JIgEE HEAS 80,000 150,000 A70,000
T 24,000
= 56,000
401 A& HI L 204 80,000 150,000 70,000
= 24,000
= 56,000
01 Al&HI 80,000 150,000 70,000
0 sSEA J1g&EtE e A
80,000,000 14! 80,000
& 24,000
- 56,000
Y AMRNEH BEXZ KA 9,000 0 9,000
T 2,700
= 6,300
307 QIZt0IA 9,000 0 9,000
T 2,700
= 6,300
02 IZHEAAMHE R 9,000 0 9,000
0 DY ArNEE BXZ XJAAS 9,000
= 2,700




S ZHID
M JIgsd A
el DRI 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | = 6,300
(GIENAIRIEDIY 4 1,132,850 1,187,700 A\54,850
= 35,000
= 796,000
< 94,100
= 207,750
2itel FE A 1,010,800 1,064,000 A43,200
= 758,000
== 75,800
o 177,000
307 212+01& 1,010,800 1,054,000 A43,200
= 758,000
= 75,800
o 177,000
02 QB AANEE R 1,010,800 1,064,000 N43,200
0 ARl BDIE S8 €I ESAY
1,010,800,000& *14] 1,010,800
= 758,000
= 75,800
o 177,000
AFOHEH] X1 AHS 50,000 50,000 0
= 35,000
= 4,500
o 10,500
307 @20l & 50,000 50,000 0
= 35,000
= 4,500
o 10,500
02 2IZHBYAIHE £ 50,000 50,000 0
0 AFEIHEH] XI&AY
50,000,000& *14] 50,000
= 35,000
= 4,500
= 10,500
AMBIEEE XIZ A 50,800 62,000 A11,200
[ 38,000
= 3,800
= 9,000
307 elztol & 50,800 62,000 A11,200
= 38,000
< 3,800
= 9,000
02 LB HAHE L 50,800 62,000 A11,200




FA ZHOIS
= JIgsd NE

el (olEDARIEDIY |4 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 A E KIJAY
254,000 202+ 102 50,800
= 38,000
[ 3,800
T 9,000
A& EHIHl XA 20,000 20,000 0
= 10,000
[Ea 10,000
402 2IZtA=01d 20,000 20,000 0
= 10,000
o 10,000
02 RIENZASEZ(0IETHR) 20,000 20,000 0
0 AIE2EHIHl XIZAE
20,000,000 *1IH 2 20,000
< 10,000
Ea 10,000
ARIEDIE |4 X 1,250 1,700 2450
201 Ler23| 1,250 1,250 0
01 At2teltl 1,250 1,250 0
0 AtIXJIE |4 Xd 1,250
o ARIEDIY 2AA WE & 243
200,000 *23] 400
o AlRIEDIY 22 & H2F K&
850,000 *14] 850
XS0 X2el 1,386,564 3,403,769 A2,017,206
= 123,880
= 243,120
= 1,019,564
X EefArS 440,300 2,231,512 1,791,212
= 112,630
< 57,120
s 270,550
HUX 28X 36,800 34,800 2,000
201 er23 | 29,600 27,600 2,000
01 At2teltl 11,000 9,000 2,000
0 MMHMUUHXIESAIY 22 HIE
500,000 42| 2,000
0 ZADIASE B2 HIS
500,000 *42] 2,000
0 MTHHOIUAI =&afa 2ONE HIS
1,000,000 %12 1,000
0 =2583 28 228 7¢
500,000 <22 1,000
0 AP LUIMZUS HIAIE ]
5,000,000& 12 5,000
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X XH -
o=

=y wlkesin
Kol Xl 2tel

EH2lr OIHAl ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 18,600 18,600 0
0 &2d4A otMate| (g
700,000 * 122 8,400
0 8d8x MIes 100,000& * 12 1,200
0 XtHl & 4H| A2 =44
1,000,000 *6IH A 6,000
0 E32= €8&H A12 4|
1,000,000 374 2 3,000
202 04t 7,200 7,200
01 =LHOHI 7,200 7,200
0 2LHoBI 150,000 x4 * 122 7,200
AU =ERES A 104,000 104,000 0
== 20,000
[Ea 84,000
402 2I2E X201 & 104,000 104,000 0
< 20,000
s 84,000
02 QI X2 AL EE(OIETHE) 104,000 104,000 0
0 =ESHTJAA 1,300,000 80l CH 104,000
= 20,000
o 84,000
AN X 2O G ALY 225,260 154,236 71,024
= 112,630
s 112,630
401 AIEHIZ SR THYI 225,260 154,236 71,024
= 112,630
[Ea 112,630
01 Al&HI 225,260 183,236 72,024
S3A2 M (122kw) 225,260
= 112,630
= 112,630
ATHANU K A=SXE AL 16,000 40,000 £24,000
= 8,000
o 8,000
402 2I2FX=01 & 16,000 40,000 A\24,000
s 8,000
s 8,000
02 QI ESASEZ(0IETHR) 16,000 40,000 224,000
0 HAEXIH A (40kw) 16,000,000 * 14! 16,000
[ 8,000
T 8,000
FOENWEY OIS3SSH 28 ZEAMY 58,240 0 58,240
= 29,120




=M ZHIIYD
B2l X0l X 22
SH9l: OILIXI EOrARY

S - B

- SHRABA) - HRAY - BES

ol &rey

MEE
Ofl &k2h

H

29,120

M

58,240
29,120
29,120

58,240

& (72.8kw)
58,240,000 *14]

A H

58,240

58,240
29,120
29,120

58,240

HoH W

946,264

11,250
186,000
749,014

1,172,257

A225,993

M H

923,764
186,000
737,764

1,152,257

A228,493

M

923,764
186,000
737,764

1,182,257

A228,493

M

923,764
923,764
186,000
737,764

1,152,257

N228,493

LPGEJ| AFEJH AIEINE AR

STl

22,500
11,250
11,250

20,000

2,500

oW

22,500
11,250
11,250

22,500

02 2712S0ItHgt
0 LPGESAHH2

el
W
il
]
£l
é

225,000 =100 Al CH

M A

22,500

22,500
11,250
11,250

22,500

H H W

54,495

1,700
15,598
37,197

55,000

505

F=HEXZ0 HUHXIXIA

HoH W

54,49

1,700
15,598
37,197

55,000

505

JIAIE AL

25,000

25,000




2A:

E M

=y wlkesin
ARIFAAE F=HEMNS

=Rl FHEXNSH HUE XX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,500
s 17,500
403 X HMSAH=01H 25,000 25,000 0
= 7,500
= 17,500
02 SIS0t =2 2 P E A I 25,000 25,000 0
0 XD & S+ & HIIAE WA 25,000
= 7,500
o 17,500
FHAANE HESE SSAE 2,500 30,000 A27,500
= 1,700
[Ea 800
401 Al HIZL 201 2,500 30,000 A27,500
= 1,700
= 800
01 Al&H| 2,500 30,000 A27,500
0 NASE LD wX| 2,500
= 1,700
[Ea 800
HEFARANS OIS MY HHAIE KA 26,995 0 26,99
s 8,098
s 18,897
401 AIEHIZ SR OHYI 26,995 0 26,99
< 8,098
Ea 18,897
01 Al&HI 26,99 0 26,99
0 A32HE A5E7 AXI(780H4) 26,99
= 8,098
= 18,897
WLES (M) 611,800 609,549 2,251
WEHAHRE(F MO L) 611,800 609,549 2,251
LHEHHXIE 611,800 609,549 2,251
01 JIEtslHSHES 611,800 609,549 2,251
01 JIERI AN ES 611,800 609,549 2,251
0 S SH)I=2g HES 538,500
0 s3SHA 2EAE 8&E23 73,300
A2 ZHI(Z M) 32,440 29,440 3,000
=&l 32,440 29,440 3,000
JI23Hl 32,440 29,440 3,000
201 2= 25,840 25,840 0
01 AtR2t2lt] 25,840 25,840 0
0 LetZHI(Z2E) 560,000& 19 10,640
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SA: ZHIIE
Mz SN SAAH|(Z MDD
&l D122 (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
0 SHHI(Z2E) 8,000&*19H 100 15,200
203 YR =&IH| 6,600 3,600 3,000
01 J|22HLRFEY| 3,000 0 3,000
0 AMZAI=ZH 3,000
04 EASHAH R 3,600 3,600 0
0 2A2Y 300,000& 12 3,600




